At a store

1. Listen to the first part of a conversation. Choose the correct picture.

2. Listen again. Complete the sentences with numbers.
1- The t-shirt cost $40, but now it is only $

2- Liz wants to borrow $

3- The coupon is for % of f.

4-Liz has $

3. Listen to the second part of the conversation. Choose the correct
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a. Liz buys the t-shirt because Sam lends her the money.

b. Sam doesn't buy the t-shirt because he can't use the coupon.

c. Liz buys the t-shirt because she uses the coupon.

4. Read the sentences while you listen again. Then, select the correct

option.

a. Liz takes the t-shirt to the

b. She shows the on Sam's phone to the sales assistant.

c. Liz can't use the coupon for clothes in the

d. Sam decides to Liz some money.
e. Sam's can buy Sam's jacket because he's coming to the
tomorrow.
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